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BT #Lgpa
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P b4 L R PEAMS £ TET LRI KO
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AR A HH & & AR B
0.85f(A; — Agt) + fyAst

PAE A 2 P E
0.85f.(A, — Ast) + fyAs (22.4.2.2)
fy < 5600 kgf /cm?

A M 2ZP TR
0.85f.(A; — Ast — Apa) + fyAst — (fse — 0.003E,) Ay,
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V,=0. 53 fib,d
V,.=0.53 (1 vy )\/ﬁb d (#%)
Ve =0 (#hi)

A R

(050\/Z+175 )b d<0.93 fcbd< <1o>

J‘}‘lwmzlwu_Nu(Lsd)'j“ R V_d7 1.0 (5hR)

FM, <0 RII2T 3 ~\*i B

T2 EA Y, = 0.93\/Ebwd\/(1 + 31:2 )
35A)\/—b d=>0 (#hi)

V,=0.53 (1

e

AP X R

Av = Av,min

i E (0. 534/f, + 6”7") b,d (22.5.5.1a)

2 4 0 (2 12A(p,,) /3/fv + = )b d (22.5.5.1b)

Av < Av,min

(2.12/13/1(pw)1/ fit )b d (2255.1c)
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BT %
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2 2/ 24 ) 2
> RERMRB T GEA, 0 BRERF| SN EA = e d/25) (22.5.5.1.3)

> AG RS BT Fi
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_ = 4 rer | Nu
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_ 80 g, d e ’ s 20 <
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TS 5 15 : |
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" - ’ &
o WML, § 05
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ES IR R 4= ;}%fﬁ-jﬁ $ Apsfse = 0. 4'(Apsfpu + Asfy) Vc)f@ifjQ EE S A % o] AT
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o R 178 e s
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0.451\/f.b,d (22.5.6.3.1h)
BT % )ivaj@fj%"‘l—‘ 7= #3044 (b)
PN CYE R e (A Apsfse < 0.4(Apsfpu + Asfy)
() (c)x & 0.45A\/f.b,d 0.534/f.b,,d (22.5.6.3.1c)
20 HH (c)
Apsfse = 0. 4‘(Apsfpu + Asfy)
EAS ﬁx r‘]ﬁi it ’3:

LT 5 R Vo

EYR "E" :

};@Eﬁ&?";lj\:ﬁ -t
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7R AT X R

= i
:
(A R

@JJ—KQ

fyt < 4200 kgf/cm?

fye < 4200 kgf/cm?
fyt < 5600 kgf/cm?

(FarmpE i, fEe g E R4 F)

T4 4 552 Ayfyed
345 A Vs =
s 3.5b,s
~ W w
PR L R Apmin = 0.2V f

fyt fyt
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e
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(@) Zy=<0.5 (225110a)

(b) ;,;nyy < 0.5 (225.1.10b)

-

K

4 v
= 4 ) ’ + /—‘ ‘\
oy > 052 5> 0.5 ki £ ¢ (2251.00)
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' <
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(a) EL R -
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7 AL -
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} AT X [Pl &
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B etd/2 Y e
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HIFARNTIT A 2 B0 e 445 (8.6.1)

Ri7 R AR R
, 45 Pl f
& 55 48 4 kef /zmz Agmin = 0.00184,
e (8.6.1.1)
T o A 83 < 4200 As,min = 0. OOZOAg As,min % BB
0.0018 x 4200 8.6.1.1:" 5Vypbsiabbo
e p er Ag | 86124 % | Asmin =
AEESE 00 | Asmin Iy Patsfy
T F Al A = IR (8.6.1.2)
0.00144, ¥ Vup > 00.534,4/f%
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f_-_ - —l
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| |
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REW2 Hed st (8.7.4.1.3)

FRB T %
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BEddr o 0.3/, Rt ok 20 b R4 55 / 7

;J:@é Lallﬂ!?“f/’n?};ij:é

0.3¢,

Iy ‘&Eé}g‘_’hm 0.3¢, 2 # 1 5d
UFR T IR T B 24 “é;(%‘fr% )

(8) - Bt )2 4K
<>/// \\\\\
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5
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- B B2 KB BRT TS A
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B2 ¥4 5 RGRFRE)
a PP (TR T A)

rb X
&5 o Ve
B 4 0.53./f.hd (a)
TR 0.53 (1 + ) frhd (b)
;}iJ B & ‘/E. 35Ag
0 (c)
N,d
0.87./f-hd + == (d)
41,
U P N L, (0.331\/ﬁ+%)
e - . 0.16/f. + W/ | hd
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arf My lw) v P " I’
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2§ 4 AR (11.5.4)

IS RNCES TES B

vF

FRP Y %

T A

= (acl\/ﬁ + pefye) Aey (11.5.4.3)

. = 0.80 for "—W<15

W

c = 0.53 for —W>2 0
a, ,,_08%"0537 F’“ﬁl“*%
forl.SSl—WSZ.O

w

PR - Fihd

a=2(1+32)>0.0 (V5 1)

(11.5.4.4)

AR - R AT 2 BBV, AL

2.12./fLA,, (11.5.4.2)

- B BEV, R RE

2.65./f.A,, (11.5.4.2)
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w R ¥4 R (18.7.4)
e AR ATRPF R
_ 7 = (ac/l\/ﬁ +Pefy) Acy
= (ac/fe + Pefy) Ao (18.10.4. 1) '

@ =0.80 > § *<15

w

@ =0.53 » § 2>2.0
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'glss%SZﬁ

_osolgW<15

_osstg%>20
aCL38ﬁ053’WﬁU4%W
gLss%szo

N

Blw 4 2 9ip 23

o

B BBV, 2 2.12/f cAcy
T - Bpude x Z_
| Eﬁﬁ 2.65,/f.A,,
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P E 452 R G 4h 2

W B LRI (25.4.2)

%1

SRR REK 5B

v

D192 ] 2 4k

LY W

D222
ot 24

B 552 o] L R B ol rdy o
(a) 4k 55 B | ‘,imw I 2dp 0 8
(b) 4 5% & ] E R EED /| vdp 2 fe B 30 0.15 y) 0.19 y)
léfq—v\}ild#]?‘]]]\ LR R L | RETRE ( fyllljtlpe )d,, ( fy‘{}tlpe >d,,
#13.955§ M fi 52 Ao A JVFe Jre
£ 546557 4 4SS EEE %4.6.6
Wﬁ T4 A SR BT o
F R jf,giq— A 55 BN Ak A2 E R
VIR db » T I%PE% }%_j‘_ ‘b db » 1l A&
ld%]ﬁp\ 54 gag\:;}@ iy S f"%%@i’ﬂi 3%%%};% fylptlpelpg fy¢t¢e¢g
;ﬁx R e o ’ 6.6A\/f~ 5.34/f
& F N E & ;}fgiQ A 55 BN AR R 2 ER
ﬁE’__L 'Zdb » TR ';‘LFE%E > db o
0.23 A 0.28 A
S ( Qyi/np ) 4, ( fbe ) 0
- fc fc
. (fy¢t¢e¢g> (fy¢t¢e¢g>

4.420./f.

3.51\/f.
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G4 S A e a2 W EE R, (25.4.2)

2 2
AL BT S
0. 28f}’ ‘I)tl:[)elps)l d fy , Ipctlp_eljplzlpg db
fr St Ke |7 3.54/f, St Ker

C d db

’ (25.4.2.4a)
B 4252 K = folxe tRe 3 4sn 05 0 g, =204
b A TP i $25% Ky =—_"

B} ¥ fy = 5600 kgf/cm? 2 4 8 > H 7w gE] 30
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